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Question: 85

You must expand an existing FAS8200 switchless cluster to a switched cluster and add a new FAS8200 HA pair in the
cluster.

In this scenario, which three actions would you perform to expand the cluster? (Choose three.)
A. Ensure that the switchless-cluster network option is false.

B. Connect the existing nodes to the cluster switches.

C. Change the cluster ports for the existing HA pair.

D. Ensure that the switchless-cluster network option is true.

E. Join the new HA pair to the cluster.

Answer: ABE
Question: 86

When performing a manual MetroCluster switchover, which two statements are true? (Choose two.)
A. Only the user specified DR groups are switched over.

B. All SVMs in the disaster site are switched over.

C. All DR groups in the disaster site are switched over.

D. Only the user specified SVMs are switched over.

Answer: BC
Question: 87

Which three steps are required to serve NFS exports from your ONTAP system? (Choose three.)
A. You must create an export policy rule.

B. You must license CIF

D. You must create an SMB share.

E. You must license NF

G. You must have provisioned a volume to export.

Answer: ADE
Question: 88
Which three name services are supported with NFS? (Choose three.)

A. NetBIOS
B. WINS



C. External NIS domains (NIS)
D. External LDAP domains (LDAP)
E. Local Users (file)

Answer: CDE
Question: 89
Exhibit;

na01::> network fcp adapter show -adapter Oe -fields fc-wwnn, fc-wwpn
node adapter fc-wwnn fe-wwpn

ressssssess ssmsses ssessssEsssssssssstmeess SemeEesEeEes e ...

na01-03 Oe 50:0a:09:80:80:01:b7:1b 50:0a2:09:82:80:01:b7:1b
na01-04 Oe 50:0a:09:80:80:d1:b7:1¢c 50:0a:09:82:80:d1:b7:1¢c

na01::> network interface show -vserver san1 -home-port Oe
(network interface show)
Logical Status Network Current Current Is
Vserver Interface Admin/Oper Address/Mask Node Port Home

mssssssEss EeessEsEss S eSS S S e eSS, eSS S e e e -

san1
san1-03_fcA up/up 20:0d:00:20:98:69:97 ff na01-03 Oe true
san1-04_fcA up/up 20:0f.00:20:98:69:97 ff na01-04 Oe true

You have a 2-node ONTAP cluster with both Oe ports connected to Fabric A.

You have an FC host connected to the FC fabric with the following initiator WWNs:

- WWNN: 20:00:00:25:B5:01:F0:2A

— WWPN Fabric A: 20:00:00:25:B5:01:A0:2A

Referring to the exhibit, which three WWNs should be configured in a zone together? (Choose three.)
A. 20:0d:00:a0:98:69:97:ff

B. 20:00:00:25:B5:01:F0:2A

C. 20:0f:00:a0:98:69:97:ff

D. 50:0a:09:82:80:01:b7:1b

E. 20:00:00:25:B5:01:A0:2A

Answer: ACE
Question: 90

Exhibit:



Platform Modng Rules %
Platform Model Maximum Nodes (MAS) 'l Maximum Nodes (SAN) [T Min ONTAP Version for Platform Mixing

J Fabric Attacthed Storage - Current Models

Fasaezt 24 Nodes 12 Nodes 83
FASIGSO 24 Nodes 12 Nodes 3
FASSI00 <4 Nodes 12 Noges 22
FASTO00 44 Noges 12 Noces 2

8 All Flash FAS - Current Models

3 Fabric Attached Storage — Legacy LOA Models

FAS2E2D 4 Nodes 4 licdea §3
FAS2SS2 & Nodes & Nedea 83
FAS2%54 8 Nodes 8 Nades 21
FASEQ20 24 Nodes 12 Nodes 3
FASEQ4D 24 Nodes 12 Nodes

FASE0ED 24 Nodes 12 Noces 83
ASS060 EX 24 Nodes 2 e ?

3 All Flash FAS - Legacy [OA Models

Footnoles

Notes ID - Notes Description

1 Hacemum nurder of nodes within a cluster is determned by palform which supporis the lowes! number of nodes

A storage administrator has an existing FAS2554 HA pair. They want to add a new FAS2620 HA pair to the cluster.
The SAN protocols are licensed.

Ref
A
C

D

rring to the exhibit, after adding the second HA pair, how many more nodes are available to add for future use?

B

=N oo N

D. 12

Answer: D

Question: 91

Which two statements are true when you restore a volume from a Snapshot copy? (Choose two.)
A. All Snapshot copies that were created after the Snapshot copy was created are lost.

B. All data that was written to the volume after the Snapshot copy was created is lost.

C. The volume’s SnapMirror relationships need to be re-created.
D. After the volume is restored, it becomes read-only.

Answer: BC
Question: 92

Which two features are supported on NetApp ONTAP? (Choose two.)
A. SnapMirror



B. FlexCache
C. Fibre Channel
D. Storage Pool

Answer: AB
Question: 93

Exhibit;
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You have a FAS8200 HA pair with disks that are evenly split between nodes A and B. When a disk fails, the
replacement disk must automatically assign back to the originally assigned controller, A or B.

Referring to the exhibit, which disk auto assign policy satisfies this requirement?
A. stack

B. bay
C. default
D. shelf

Answer: D
Question: 94

Exhibit:



IPspace Vserver List Broadcast Domains

Cluster
Cluster Cluster
Default
svml, svm2, Default
clusterl
IPspacel
SVM1A, SVM2A, IPspacel
IPspace2
SVM2A, SVM2B, IPspace2

You execute the clusterl::> network ipspace showcommand, and notice that two IPspaces are not able to be renamed
or deleted.

Referring to the exhibit, what are these two IPspaces? (Choose two.)
A. IPspace2

B. Default

C. IPspacel

D. Cluster

Answer: BD

Question: 95

How would you protect a NAS SVM root volume?

A. Create a SnapMirror copy of the root volume to a peer cluster.
B. Create load-sharing mirrors.

C. Create a backup the SVM configuration.
D. Create a backup of the SVM root volume.

Answer: B
Question: 96

Click the Exhibit button.



Referring to the exhibit, what is a valid storage failover scenario?
A. Node 1 fails and Node 2 takes over Node 1’s storage.
B. Node 4 fails and Node 2 takes over Node 4’s storage
C. Node 3 fails and Node 1 takes over Node 3’s storage.
D. Node 2 fails and Node 3 takes over Node 2’s storage.

Answer: A
Question: 97

What are three types of licenses available for ONTAP? (Choose three.)
A. standard

B. evaluation

C. system

D. site

E. field

Answer: ABD
Question: 98

Exhibit:



::> vserver export-policy rule create -vserver vsl -policyname test

-clientmatch 10.64.18.0/24 -rorule any -rwrule any -protocol nfs3 -ruleindex 1 -
anon 70

The rule created above is verified by using the command that follows:

::> vserver export-policy rule show

Vserver Policy Rule Access Client RO
Name Index Protocol Match Rule
vsl test 1 nfs3 10.64.18.0/2 any

An export policy rule for a volume is set by using the command shown in the exhibit.

If clients with IP addresses 10.64.19.0 and 10.64.18.20 accessed the export, what is the outcome?
A. Neither client is given access.

B. Client 10.64.19.0 is given access but 10.64.18.20 is not given access.

C. Client 10.64.19.0 is not given access but 10.64.18.20 is given access.

D. Both clients are given access.

Answer: C
Question: 99

When you create a FlexVol volume, which security style is applied by default?
A. the security style of the SVM root volume

B. the security style of the root volume of the cluster

C. NTFS

D. UNIX

Answer: B
Question: 100

An administrator is designing an ONTAP solution that consists of eight FAS8200 nodes in a single cluster. Each node
will use four ports for cluster connections.

Which cluster interconnect switch model should be used in this scenario?
A. Nexus 5596UP

B. Nexus 5010

C. CN1610

D. CN1601

Answer: A
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